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- PART A: Vocabulary
. Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence. Then mark
your choice on your answer sheet. :

1 _Mr. Simons resigned and gave up his job because he had towork .......... Ry for long hours every day.
1) inflexibly 2) monotonously 3) unanimously 4) exclusively
2 -She could not conceal the deep ............... she felt at the way she had been treated.
1) hindrance 2) conflict 3) resentment 4) possession
3 -In spite of the logical suggestions of the young employee, the board of directors ............... all of his
recommendations. "
1) disregarded 2) proceeded 3) decayed 4) varied
4 _ After the accident, crowds of people gathered inthe ............... of the square of the city.
1) distress 2) tendency 3) corruption ~ 4)vicinity
5 -Belgium was the first European country t0 ............... a comprehensive rail network.
1) evade 2) possess 3) precede ~ 4)dramatize
6 - The school had been ............... in not informing the child's parents about the incident.
1) solemn 2) inferior 3) negligent 4) assertive
7 -The spokesman of the new government announced that the tax system should be ...............
1) illustrated 2) abolished 3) extended 4) clarified
8 _You must take all reasonable ............... to protect yourself and your family.
1) preconceptions 2) reforms 3) variations 4) precautions
9 1 failed to recognize her, Actually she closely:. s her sister.
1) suffices 2) resembles 3) misleads 4) excludes
10 _The German Chancellor was anxious t0............... his government's commitment 10 further European
unity.
1) overwhelm v 2) assert 3) resemble 4) symbolize

PART B: Grammar
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits e
mark your choice on your answer sheet.

ach blank. Then

Biomimetics is the billion—dollar industry ....(11).... inspiration from nature to solve problems in
engineering, medicine, and other fields. While human beings have always had a natural propensity ....(12)....
‘and try to copy the ingenuity of nature, it is only recently that biomimetics has taken off as a field of its own.

The Renaissance genius Leonardo da Vinci dedicated himself ....(13).... natural phenomena half a
millennium ago. His superb graphic renditions of plausible flying machines are based on his direct observations
of birds in flight. His renowned Codex Atlanticus, along with smaller codices, ....(14)..... renderings of animal
musculature, revealing a fascination with movement. His erudite studies of flowing hair and water manifest his
contemplation of the movement of waves in nature. However, without modern technology, early
inventors ....(15).... da Vinci were unable to implement their biomimetic insights.

11z

1) which drawing 2) draws 3) which is drawn 4) drawing
12
- .1.) to observe 2) observing 3) to observing 4) observe
- .1.) record 2) to record 3) recording 4) to recording
a T) which includes 2) include 3) includes 4) which include
- T) as 2) similar to 3) such 4y hike
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PART C: Read‘ing Comprehensibn

Directions: Read the following three passages and answer the questions by choosing the best choice (1, (2),
(3), or (4). Then mark the correct choice on your answer sheet.
. :

Passage 1

When it comes to making complex judgment calls, computers can't replace people. But with artificial
intelligence, computers could be trained to think like humans do. Artificial intelligence allows computers to
learn from experience, recognize patterns in large amounts of complex data and make complex decisions based
on human knowledge and reasoning skills. Artificial intelligence has become an important field of study with a
wide spread of applications in fields ranging from medicine to agriculture. S

Two of the most important and most used branches of Al are neural networks and expert systems.

An expert system can solve real-world problems using human knowledge and following human reasoning
skills. Knowledge and thinking processes of experts are collected and encoded into a knowledge base. From that
point on, the expert system could replace or assist the human experts in making complex decisions by
integration all the knowledge it has in its knowledge base. '

The most important application of neural networks is in pattern recognition. Humans, through neurons in
their brains, learn how to read human writing, recognize a bad apple from a good one or identify their children
from a set of kids, neural networks allow computers to use the same principles that neurons in the brains use to
recognize and classify different patterns. So in a way, neural networks are a digital representation (although
very simplified) of our brains. They are made of artificial neurons, connected by weights, w hich are indicative
of the strengths of the connections. The neurons are arranged in layers, and depending on the complexity of the
application, there could be a few of them or a very large number of them (hundreds or thousands). lterative
propagation of input from one layer of neurons to the next (training) is what enables the neural network to learn

from experience.
Unlike humans, when a neural is fully trained, it can classifv and identify patterns in massive amounts of
complex data. It could do this at high speeds that can not be duplicated by humans.

16 — All of the below are improvements in computers made possible through artificial intelligence except:
1) Thinking like humans i
2) Creating patterns in large amounts of complex data
3) Learn from experience
_4) Make complex decisions based on human knowledge

17 = An expert system can'’t:
1) Use human knowledge
3) Replace experts
18 - Neural networks:
1) Recognize patterns as good as humans
2) Simplify our brains
3) Can help computers use the same principals for recognition as our brains

2) Follow reasoning skills
4) Act like humans

4) Digitalize our brains
19 = What does "They" underlined in paragraph three refer to:
1) Neural networks 2) Recognition & classification

3) Our brains 4) Digital representation

20 . Which of the below is correct about learning from experience in  neural networks?
1) It is enabled by transferring the data from one layer to the other, in multiple turns.
2) It enables neural networks to train.
3) It can classify & identify less complicated patterns.
4) It can classify & identify patterns slower than humans.

Passage 2

With recent advances in three-dimensional (3D) printing technology, it is now possible to produce a wide
variety of 3D objects, utilizing computer graphics models and simulations.

But while the hardware exists to reproduce complex, multi-material objects, the software behind the printing
process is cumbersome, slow and difficult to use, and needs to improve substantially if 3D technology is to
become more mainstream.
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On July 25, a team of researchers from the MIT computer Science and Artificial intelligence Lab (CSAIL)
presented two papers at the SIGGRAPH computer graphics conference in Anaheim, California, which propose
new methods for streamlining and simplifying the 3D printing process, utilizing more efficient. intuitive and
accessible technologies.

"Our goal is to make 3D printing much easier and less computationally complex” said Associate professor
‘Wojciech Matusik, co-author of the papers and a leader of the Computer Graphics Group at CSAIL. "Qurs is the
first work that unifies design, development and implementation into one seamless process, making it possible to
easily translate an object from a set of specifications into a fully operational 3D print."

3D printing poses enormous computational challenges to existing software. For starters, in order to fabricate
complex surfaces containing bumps, color gradations and other intricacies, printing software must produce an
extremely high-resolution model of the object, with detailed information on each surface that is to be replicated.
Such models often amount to petabytes of data, which current programs have difficulty processing and storing.

To address these challenges, Matusik and his team developed Open Fab, a programmable "Pipeline”
architecture. Inspired by RenderMan, the software used to design computer-generated imagery commonly seen
in movies, open Fab allows for the production of complex structures with varying material properties. To
specify intricate surface details and the composition of a 3D object, Open Fab uses "fablets.", programs written
in a new programming language that allow users to modify the look artd feel of an object easily and efficiently.

The software pipeline makes it easier to design and print new materials and to continuously vary the
properties of the object you are designing. .

21 - Which of the below is the best replacement for "cumbersome" in paragraph two?

1) Bulky 2) Simple 3) Fast 4y Modern
.7 R proposed new methods for streamlining and simplifying printing process.
1) Two Papers from CSAIL 2) MIT

3) Anaheim «4) SIGGRAPH

23 . Translating an object from a set of specifications into an operational 3D print is the result of:
1) Unifying design & development
2) Turning design, development & implementation into one seamless process
3) Making 3D printing easier
4) Processing design, developmen't & implementation

24 _ Which of the below is among the challenges 3D printers face?
1) Fabricating complex surfaces
2) Containing bumps, color gradations & intricacies
3) Needing on extremely high resolution of the object
4) There are no challenges

25 _Which of the below is not correct about fablets?
1) They are used to specify intricate surface details.
2) New programming languages are used for them.
3) They can modify the physical object.

- 4) They allow the user to modify the feel & look of the printed object.

Passage 3

A database is simply an organized collection of related data, typically stored on disk. and accessible by
possibly many concurrent users, Databases are generally separated into application areas. For example, one
database may contain Human Resource (employee and Payroll) detail another may contain sales data; another
may contain accounting data; and so no. They are managed by a DBMS.

A Database Management System (DBMS) is a set of programs that manages any number of databases.
There are 3 traditional types of database management systems: hierarchical, relational, and network.

Current popular database systems include Oracle; Sybase (Same as Microsoft's SQL Server but on a different
platform); IBM'S DR2, IMS, and SQL/DS; Ingres; Informix; and smaller, but rcasonably powerful off-the-shelf
products such as dBase, Access, Foxpro. paradox, and dozens of others.
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The choice of a database product is often influenced by factors such as:

« The computing platform (i.e., hardware, operating system)

« The volume of data to be managed

« The number of transactions required per second

« Existing applications or interfaces that an organization may have

« Support for heterogeneous and/or distributed computing

« Cost

« Vendor support

Object-oriented database systems are currently in development. They allow us to model and manipulate
complex data structures and objects, and hence support many new applications, including CAD/CAM. As of
1996, object-oriented databases represent a very small segment of the commercial market (perhaps 1%). It is
interesting to note that some major DMS vendors are starting to support complex objects (such as images) in

their relational products.

i

26 = Which of the below is the best definition for database?

1) An organized collection of disks

2) An organized collection of data stored by many concurrent users
3) Data bases are generally separted into application areas

4) A collection of data organized, stored & Used by multiple users

27 _What does "They" in paragraph one refers to?

1) Accounting data 2) Different types of data ~ 3) Data bases 4) Data base users

i

78 _Hierarchical data base management SySt€ms ...............
1) Have a set of programs that manages databases
2) Are the fastest type of DBMS
3) Are a slower but more powerful DBMS
4) Are the most popular DBMS

DY ervivsesvnisasas does not influence the choice of database product.
1) The hardware or operating system
2) The quality of transactions
3) Distributed computing support
4) Amount of data
30 = Which of the below is correct about object oriented databases?
1) They have been the most popular database so far.
2) They do not change the structure of databases.
3) They are a small part of the commercial market.
4) Major DBMS vendors do not support this type of data.
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